

*

) : (46)
(

.(3.56)

" " " " " " " " " " " "

(0.05=∞)

:

:

)

(

)

.(74 :2000

-

-

*

.2010/8/11

2010/3/9

:

/

.1

:

.1

.2

.2

(Madhukar,

.2003)

.3

.3

(1993) (2002)

.4

.5

.6

(2005)

(36-30)

) " : (65:2002)
(

."

:

:

.

:

(Berger, 1996)

:

(2001)

(Jones, 1998)

:

.1

.2

)

(

-1

)

.(2001

-2

-3

-4

-5

-6

)

.(2000

:

:

(

.(

)

)

.1

.2

.3

. 2008/2007

.4

(Lowa)

() : :
 () () :
 2008/2007 (2628)
 (2389)
 (239)
 (532)
 (1) %25

(1)

					(89)	(443)	
					(338)	(194)	
					(286)	(246)	
					(75)	(457)	
(22)	(25)	(28)	(62)	(75)	(165)	(155)	
				(215)	(167)	(150)	
				10 (91)	10-5 (165)	5 (276)	

35 34 32 31 30 : : .2
 .46 39 38 36
 28 27 26 25 : : .3
 .44 43 40 29
 33 17 16 15 1 : : .4
 .45 42 41 37
 11 8 7 6 4 2 : : .5
 .13 12
 14 10 9 5 3 : : .6 : (46)
 .24 23 .22 21 20 19 18: : .1

(46)

(Likert)

(15)

)

4 5)

(

.(1)

(1 2 3

(15)

(12)

(50)

(46)

(2)

-

	-			
5	0.89	0.88		.1
9	0.88	0.86		.2
8	0.90	0.89		.3
9	0.87	0.85		.4
8	0.89	0.89		.5
7	0.88	0.86		.6
46	0.89	0.87		

(3)

			*		
		0.43	3.69		4
		0.44	3.68		1
		0.45	3.68		2
		0.45	3.55		3
		0.56	3.38		5
		0.74	3.35		6
		0.26	3.56		

.(5)

*

(0.87)

-

(20)

(0.89)

(Test,

(2)

Retest)

.(4)

(4)

	0.90	3.88		16
	0.97	3.87	" "	41
	0.97	3.83	" "	42
	1.04	3.73	" "	33
	1.05	3.65	" "	45
	1.03	3.65	" "	37
	0.99	3.60		1
	0.98	3.60		15
	1.08	3.40		17
-	0.43	3.69		

.(5) *

(5)

	0.87	3.92		18
	0.97	3.70		20
	0.95	3.68		21
	0.92	3.60		22
	1.02	3.50	()	19
-	0.44	3.68		

(16) (4)

.(0.43) (3.69) " "

(3.88)

: : - (41) (0.90)

" "

(3.87) "

(17) (0.97)

" "

.(5)

(18) (5) (1.08) (3.40)

(8)

	1.03	3.62	.	6
	1.10	3.56	.	12
	1.11	3.46	.	7
	1.13	3.37	.	4
	1.14	3.31	.	13
	1.17	3.28	.	8
	1.09	3.22	.	2
	1.14	3.19	.	11
-	0.56	3.38		

(5) *

(1.05) (3.78) :

" (28)

"

(1.16) (3.58)

" (40) .(6)

" (32) (6)

(1.10) (3.36) "

"

.(0.45) (3.55) (39) (0.88) (3.87)

:

:" - "

(0.91) (3.83)

" (36)

"

.(8) (1.19) (3.46)

(6) (8)

" "

.(0.45) (3.68)

(1.03) (3.62)

" (12) :

(3.56) (11) (1.10) "

"

(3.19) (1.14) (43) .(7)

(7)

(3.38) "

.(0.56) "

(9)

	1.11	3.46	.	24
	1.17	3.43	.	9
	1.12	3.40	.	10
	1.09	3.34	.	5
	1.22	3.32	.	23
	1.22	3.27	.	3
	1.27	3.22	.	14
-	0.74	3.35		

(5) *

(10)

0.47	3.77	0.40	3.48	0.45	3.58	0.44	3.83	0.42	3.41	0.43	3.75	
0.44	3.62	0.47	3.47	0.48	3.65	0.41	3.74	0.22	3.78	0.48	3.67	
0.41	3.69	0.50	3.38	0.45	3.34	0.46	3.59	0.49	3.47	0.45	3.57	
0.44	3.69	0.42	3.42	0.45	3.51	0.37	3.78	0.44	3.71	0.43	3.69	
0.61	3.58	0.50	3.31	0.52	3.43	0.63	3.64	0.61	3.12	0.55	3.39	
0.76	3.54	0.66	3.37	0.71	3.33	0.79	3.38	0.49	3.49	0.77	3.33	
0.25	3.68	0.26	3.42	0.26	3.55	0.24	3.69	0.20	3.54	0.27	3.57	

(3.22) " (14) : : -
 (1.27)
 (3.35) (0.74) (9)
 (24) (9)
 : : "
 - "
 : (9) (1.11) (3.46)
 "
 (1.17) (3.43)

.(10)

(11)

0.45	3.51	0.44	3.70	
0.28	3.54	0.52	3.76	
0.40	3.51	0.47	3.71	
0.41	3.44	0.44	3.68	
0.56	3.33	0.55	3.57	
0.75	3.28	0.73	3.55	
0.21	3.49	0.27	3.61	

(12)

0.51	3.74	0.56	3.67	0.42	3.82	0.48	3.56	0.36	3.75	0.46	3.76	0.41	3.68	
0.34	3.74	0.27	3.63	0.28	3.72	0.22	3.91	0.43	3.74	0.63	3.56	0.53	3.57	
0.44	3.54	0.32	3.76	0.36	3.69	0.35	3.76	0.51	3.42	0.52	3.43	0.44	3.50	
0.50	3.52	0.26	3.84	0.33	3.95	0.35	3.67	0.43	3.69	0.45	3.60	0.45	3.70	
0.63	3.60	0.44	3.50	0.61	3.18	0.52	3.35	0.48	3.51	0.53	3.42	0.59	3.23	
0.92	3.27	0.60	3.43	0.62	3.23	0.67	3.50	0.56	3.57	0.67	3.31	0.89	3.23	
0.23	3.57	0.18	3.65	0.20	3.61	0.15	3.64	0.23	3.61	0.32	3.51	0.31	3.49	

: - : -

.(12)

.(11)

(13)

10		10-5		5								
0.38	3.85	0.44	3.67	0.48	3.67	.480	3.65	.410	3.74	.380	3.86	
0.62	3.44	0.42	3.71	0.29	3.81	.340	3.77	.500	3.58	.640	3.62	
0.47	3.59	0.47	3.52	0.42	3.58	.460	3.50	.390	3.67	.560	3.43	
0.37	3.73	0.43	3.70	0.47	3.64	.490	3.66	.330	3.71	.460	3.73	
0.63	3.17	0.53	3.47	0.52	3.39	.550	3.45	.540	3.42	.610	3.05	
0.76	3.12	0.79	3.28	0.56	3.60	.600	3.47	.790	3.30	.980	3.02	
0.28	3.48	0.27	3.56	0.22	3.62	.230	3.58	.240	3.57	.390	3.45	

(0.05= ∞)

:

-

.4

(0.05= ∞)

.(13)

(13 12 11 10)

.(15)

(Scheffe)

(15)

()
)

.(14)

: (14)

(

.1

)

(0.05= ∞)

.(

.5

(0.05= ∞)

.2

(0.05= ∞)

.(16)

(Scheffe)

(16)

5)

(10-5

.3

.((10)
10-5 5)

(14)

* 0.007	7.460	1.424	1	1.424		= 0.905 0.058=
0.622	0.244	0.044	1	0.044		
0.513	0.429	0.087	1	0.087		
0.409	0.687	0.128	1	0.128		
0.222	1.508	0.425	1	0.425		
0.351	0.878	0.434	1	0.434		
0.001*	11.597	2.215	1	2.215		= 0.958 0.524=
0.0001*	9.211	1.658	1	1.658		
0.001*	8.219	1.652	1	1.652		
0.004*	5.505	1.024	1	1.024		
0.001*	10.369	2.924	1	2.924		
0.009*	4.045	1.998	1	1.998		
0.586	0.781	0.149	6	0.895		= 0.695 0.146=
0.159	1.579	0.285	6	1.709		
0.230	1.375	0.277	6	1.661		
0.181	1.508	0.281	6	1.684		
0.059	2.090	0.589	6	3.535		
0.497	0.901	0.445	6	2.672		
0.001*	6.162	1.177	1	1.177		= 0.926 0.121=
0.001*	7.022	1.264	1	1.264		
0.006*	4.995	1.004	1	1.004		
0.002*	5.817	1.082	1	1.082		
0.009*	4.099	1.156	1	1.156		
0.001*	6.002	2.965	1	2.965		
0.003*	5.581	1.066	1	1.066		= 0.942 0.303=
0.001*	8.189	1.474	1	1.474		
0.008*	5.338	1.073	1	1.073		
0.004*	5.559	1.034	1	1.034		
0.007*	5.468	1.542	1	1.542		
0.024*	3.745	1.850	1	1.850		
0.434	0.839	0.160	2	0.320		= 0.169 0.067=
0.071	2.699	0.487	2	0.974		
0.190	1.684	0.339	2	0.678		
0.487	0.725	0.135	2	0.270		
* 0.048	3.106	0.876	2	1.751		
0.216	1.550	0.766	2	1.532		
0.119	2.167	0.414	2	0.827		

* 0.008	5.047	0.910	2	1.821		= 0.237 0.008=
0.668	0.404	0.082	2	0.163		
0.864	0.147	0.027	2	0.055		
0.062	2.844	0.802	2	1.603		
0.054	3.109	1.537	2	3.073		
		0.191	124	23.675		
		0.180	124	22.371		
		0.201	124	24.977		
		0.186	124	23.079		
		0.282	124	34.956		
		0.494	124	61.300		
		138	1940.833			
		138	1912.432			
		138	1784.281			
		138	1916.741			
		138	1628.094			
		138	1634.204			

(0.05 = ∞)

*

(15)

(Scheffe)

3.45	3.42	3.05		
*0.40	*0.37		3.05	
0.03			3.42	
			3.45	

(0.05 = ∞)

*

∴

.1

.(17)

(17)

(0.05= ∞)

(16)

(Scheffe)

10	10-5	5		
3.44	3.71	3.81		
*0.37	0.10		3.81	5
*0.47			3.71	10-5
			3.44	10

(0.05 = ∞)

*

(17)

0.355	1.114	5.621	1	5.621	
0.048*	3.634	18.328	1	18.328	
0.344	0.472	2.381	6	14.284	
0.042*	3.982	20.085	1	20.085	
0.045*	3.891	19.628	1	19.628	
0.528	0.524	2.644	2	5.288	
0.421	0.424	2.141	2	4.281	
		5.044	124	625.514	
			138	2595.628	

(0.05 = ∞)

*

.2

.6

.3

:

.4

.1

.5

.2

.3

.4

.5

.6

(98)

2007

2005

1

2002

(1) 22

2000

.183-143

Berger, Marsha. 1996. Developing A Quality Teaching force, Egyptian Society for Development and childhood and ministry of Education: 285-311.

()

2001

Celania, Elizabeth. 2004. A study of Iowa second-year Teachers perception of the Iowa Teaching Standards and implementation of the Iowa Teacher's Quality program. Dissertation abstract international-A 65\02, P 357.

2003

11-9

2003

Javan, Mohammad Hussein. 2004. Improving Pre-service Elementary Teacher Education in the Islamic Republic of Iran. Dissertation abstract international-A 64\10, P 369.

2002

2000

()

Jones, Alan. 1998. Ten points of Debate in Teacher Education: looking for Answers to Guide our future. Teacher Education quarterly, (25) no(4):9-15.

! : 2009

2009-11-20

Madhukar, I. 2003. Impact of Globalization on Education, Delhi, Authors press.

.www.bab.com/articles/full_article.cfm?id=1380

1993

Research and Development Center. 2003. Scenarios for the Future of Teacher Education in Europe. European Journal of Teacher Education. 26 (1): 21-35 Retrieved sep 25,2005 form the word wide.

2001

Teacher-Training Programs at Jordanian Universities from the Point of View of Faculty Members

*Amjad Mahmood Daradkah**

ABSTRACT

This study aimed at determining the teacher-training programs at Jordanian universities from the viewpoint of faculty members, also aimed to determine the degree of divergent views of these different variables of Gender, specialty, and the source to obtain the latest qualified, and the type of university, and the name of the university, academic rank, years of experience. To achieve the objectives of the study has been building and developing Questionnaire consisting of (46) paragraph, which included six areas: (program objectives, and lesson plans, and curricula, books and references, teaching methods, and evaluation methods) and verified its validity and reliability. The results of the study to the following: mean of the estimates for the sample of the study on the Questionnaire as a whole (3.56). and occupied the area of "books and references" ranked first, and then came the field of "program goals" and the field of "study plans" came in second, and then came the field of "courses", then the field of "teaching methods", whilst the area of "evaluation methods" in the last rank. There are no statistically ($\alpha = 0.05$) significant differences at the level of statistical significance (between the estimates of the sample on the Domains of study as a whole due to the variables of Gender, and the name of the university, academic rank, years of experience. There are significant differences due to the variable of specialization, and the source to obtain the latest qualified, and the type of university, and estimates for the benefit of science faculties, and graduates of foreign countries, public universities, respectively. In light of these results the researcher recommended a number of recommendations, including: re-consideration of the philosophical and educational vision of the educational process for the teacher, so based on the methodology, absorbing at the same time the modern age and future requirements.

Keywords: Programs, Teacher Training, Jordanian Universities, Faculty Members.

* King Khalid University, Kingdom of Saudi Arabia. Received on 9/3/2010 and Accepted for Publication on 11/8/2010.